[image: image1.png]For each of the following statements, tick if they are true or false.

Ataxpayer must complete his tax retur for 2011/12 n paper format by 30 November 2012.

Tue

HHRC is responsible for ensuring all taxpayers have a tax return for 2011112,
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Task 1.1
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Task 1.2

[image: image2.png]Select TWO circumstances where an accountant would be permitted to disclose information about a
client without express authorisation from the client.

Where the information is of a non-financial naure.

Where there is a legal dutyto do so.

Where the client has become incapaciated.

Where the accountant suspects money laundering.





Task 1.3
[image: image3.png]Select TWO criteria which are the best indicators of a contract for services. Drag the indicators into
the table below.

[The person doing the work
does not receive holiday
pay.

[The person doing the work
pays fortheir own

equipment
Drag tems

[The person paying for the: No financial fisk for the:
[work has contol. person doing the work

[The person doing the work
Jworks solely for one.
organisation





Task 1.4

[image: image4.png]Complete the following table to show the total income subject to income tax for Marty for 2011/12. Use
‘whole numbers only.

|satary w722

[Bonus. 1000

[Total income for 2011112 37722





Task 1.5

[image: image5.png]Complete the following table to show Moyra’s benefitin kind for 2011/12 arising from the use of these
cars. Use whole numbers only.

[Vauhal 30| 32000] 7200|

[Volvo. 13 24000] 780|

[Total benefitin kind 7980|





Task 1.6
[image: image6.png]the appropriate column of the table below to show whether each of the items listed
an assessable benefitin kind for an employee earning £40,000 in 2011/12.

No benefit

‘The following are provided by the employer to the employe o e

[Free use of a house for a senior manager who has permanently moved
lto a company depot 300 miles from his home.

|Avan provided forthe employes to use for business purposes only.

[Loan to buy a computer which the employee is required to purchase to.
lcary out their job. The computer is used solely for business purposes.

SIS

[Free use of a pool car for private as well as business use for a 12 month
[period as reward for being voted employee of the year.

(b) Calculate the asessable benef

kind (in whole pounds) for each of the following:

[on 1 January 2012 Ray was provided with an interest free company loan 100
lof£10,000.

[on 1 October 2011 Ken was provided with the loan of a music system

|costing £1,000 for his personal use. 100





Task 1.7
[image: image7.png]An employee earns £32,000 in 2011/12. Indicate whether each of the following will or will not be.
treated as an assessable benefitin kind for the employee by dragging the correct item into the
answer box.

‘The following are provided by the employer to the employee

Wi beveatod s
Proision e diin s formanager nly onassessatle
sonttinind
Wioeveaad s
Long senic gt ofavaichosing 1000 15 sarsof | anassessatle
e sonttinind
Wit veted
g coure costs 11000 s HostangSasty |50 anasseseable
Corss i oy s e e el ool senttin i
Wit veted
broision s car paring space i aloal car patclose o |2 a asoessable
ootk cosing v srsover 500 ersear senttin i
oragtems
Wioevedad s Wi vt rted
anzoscssatlo oo anassessatlo

benefitin kind benefitin kind





Task 1.8
[image: image8.png]Drag the correct box next to each incurred mileage described below to show the effect that the.

income from their business mileage will have on the employee’s tax liability, assuming they claim
the approved mileage rates (AMR) from HMRC.

Wieage incurred by employee Answer
Increase theirtax
[8.000 miles paid at 50p per mile iability
Decrease i fax
12,000 miles paid at 39p per mile iability
Increase theirfax
15,000 miles paid at 40p per mile. iability
Decrease i fax
[20.000 miles paid at 32p per mile iability
Drag bores: Increase theirtax | | Decrease theirfax

liability liability





Task 1.9
[image: image9.png]() Show whether the types of interest below are received net or gross by dragging EACH item to the appropriate area.

Received Net wed Gross

Building society interest| | [ Interestirom gits





[image: image10.png](b) Select the correct answer to the question.

Paulis a higher rate taxpayer, and during 2011/12, £840 was paid direcly nto his bank account which
related o bank interest. How much taxwill Paul pay on this interest?

2168

2210





Task 1.10
[image: image11.png]Answer the following questions by inputting the correct answer (in pounds and pence) in the boxes provided.

In January 2012, Dianne received a dividend cheque for £540, allof which fell in the higher rate (didend
income upper rate) band.

Whatis the gross amount of this dividend?

£ [600

Whatis the amount of tax Dianne will pay on this dividend?

£ [ies





Task 1.11
[image: image12.png]For each of the following statements, tick i they are true or false.

omege et 108000 ot sfco i et 20%

omstes o on st s nysometmes ot o





Task 1.12
[image: image13.png]Calculate her total tax payable for 2011/12.

Enter your workings into the blank table below. You have been given more space than you will need.

H
[Employmentincome 139,500
|oPs 5% 6,975
132,525
PA 0
132,525
[Tax payable:
/135,000 + (320 x 12 x 100/80)]
120,800 x 20% 7,960
|(132.525 - 39,800) = 92,725 x40% 37,000
45,050





Task 1.13

[image: image14.png](a) Discuss the penalties, interest or surcharges that may be applied by HMRC on William for both the late
filing of the tax return and the potential error made in the return.

(b) Discuss what the potential penalties would have been if William had stil not iled his tax return on the
day he visited you.

(€) Discuss how HMRC would view the late filing of the tax return if William could prove he had a valid and
reasonable excuse for not doing so.

Late retum Firstl, the retur should have been filed by 31 January 2012 He would have received an
[immediate fine of £100 for missing this date. As the return is more than three months late, HURC may
[charge a penalty of £10 per day while the retum is outstanding. As the retum is also more than six months
1ate, another penalty may arise which is the greater of £300 or 5% of the tax iabilityfor the year.

Incorrect retum: 1S4 interest s not taxable o there would be no penalties, interest or surcharge applied by
[HURC as this information is not needed in the tax return.

0)
[ Wiliam had still notfled his tax retum by 18 February, this would over 12 montns late and an aditional
enaly of the greater of £300 or 5% of the tax iability would be charged as a penalty

©

[None ofthe penalties listed above would be charged if William had a reasonable excuse for failing to submit
s retum on time. Serious iliness is an example of a reasonable excuse, butignorance of the tax system is
ot





Task 1.14
[image: image15.png]Your name Your Unique Taxpayer Reference (UTR)
Mo Singh|

Complete an Employment page for each employment or directorship

11 Pay from this employment - the total from your P45 or P60 5 Your employer's name
- before tax was taken of f SAR Limited
52,000
2| UK tax taken off pay in box 1 6] If you were a company director, put X' in the box
12,030

3| Tips and other payments not on your P60 - read page EN 3

7| And, if the company was a close company, put X in the box
of the notes

If you are a part-time teacher in England or Wales and
are on the Repayment of Teachers' Loans Scheme for this
employment, put X' in the box

4| PAYE tax reference of your employer (on your P45/PE0)




Task 1.14 (continued)

[image: image16.png]Benefits from your employment - use your form P11D (or equivalent information)

9| Company cars and vans - the total ash
equivalent amount

16,238

10| Fuel for company cars and vans - the total cas

equivalent' amount

11| Private medical and dental insurance - the total

cash equivalent amount

12| Vouchers, credit cards and excess mileage allowance

Employment expenses

17| Business travel and subsistence expenses

18] Fixed deductions for expenses

13] Goods and other assets provided by your employer
- the total value or amount

i

15

16

19

20

Accommodation provided by your employer - the total

value or amount

Other benefits (including interest-free and low interest

loans) - the total cash equivalent’ amount

Expenses payments received and balancing charges

Prof

Oth

fessional fees and subscriptions

180

er expenses and capital allowances





Task 2.1
[image: image17.png]‘Show whether the following statement s true or false.

Ifataxpayer has five rental propertes, the rental profitfor each property must be disclosed to HIRC individually.

Tue





Task 2.2

[image: image18.png]Drag the correct box from the right into the table below to show if each of the following

‘expenses would be an aliowable deduction from property income, or not.

Exp

IRepairs with no improvement
lelement

An

[Allowable deduction

Drag tems

Interest paid on a mortgage to
louy the property

[Allowable deduction

[Allowable deduction

[Business rates

[Allowable deduction

Not an allowable deduction

[Extension above a garage to add
la new bedroom

Not an allowable deduction

[The inital cost of furniture when
ltne renewals basis is claimed

Not an allowable deduction

Insurance

[Allowable deduction

[Wages for a cleaner

[Allowable deduction





Task 2.3

[image: image19.png](a) Show whether the following statements are true or false.

Ataxpayer lives alone in his only property. Under rent a room relie,if e let out a furnished room at £360 per week
for eight weeks in the tax year 2011/12, this income would be automatically exempt from tax.

e

False

For ataxpayer to be assessed under the rent a room scheme, the property must have been the taxpayer's
main residence at some pointin the taxyear.

Tue

False

(b) Select the correct answer from the drop down list.

Ataxpayer has one property. For tto qualify as commercialletting of furnished holiday accommodation, it
must be available for leting as a holiday accommodation on a commercial basis for a total of 140 days or
more in atax year, and the property:

+ is actuallyletfor atleast [70_JI] days inthe taxyear, and
+ would not normally be in the same occupation for more than [37_ ] consecufive days in the tax year.





Task 2.4

[image: image20.png]‘Show whether the following statements are true o false.

‘Spouses and civl pariners can transfer capital gains tax losses between each other.

Tue

False

Capital gains tax on disposals made in 20111215 payable on 31 July 2012 at the latest.

Tue

False





Task 2.5
[image: image21.png]Complete the following computation. Do not use brackets or minus sign:

your answer.

INet proceeds 21340)
[Total costs 22080)
Netioss o





Task 2.6
	
	
	£

	July 2011
	
	

	Proceeds – 700 x £25
	
	17,500

	Cost 
	
	19,600

	Loss
	
	2,100

	
	
	

	March 2001
	900
	8,800

	July 2011
	100
	978

	
	800
	7,822

	
	
	

	Proceeds – 100 x £25
	
	2,500

	Cost 
	
	978

	Gain
	
	1,522


Task 2.7

[image: image22.png]‘Show if each of the following statements are true or false for capital gains.

Only some animals are exempt from capital gains tax

Wasting chattels are defined as assets which a lfe expectancy below 100 years.

Ifa chattel has both proceeds and cost below 6000 is it always ignored for capital
gains tax purposes.

In calculating the cost of a part disposal, the fraction ignores the market value of the
partretained.

Inthe chattel marginal relief computation, the fraction used s 513





Task 2.8

[image: image23.png]() Show whether the following statement s true or false.

Ataxpayer's personal motor car is exempt from capital gains tax.

(b) Select the correct answer from the drop down lst to complete the sentence.

Gary bought a house on 1 February 2002 for £100,000 and lived in the house unil 31 January 2005 when
he moved into his elderly parents' house to care for them. He lived with his parents until 31 January 2010
when he retumedto his own house and lived there unfil he Sold tfor £220,000 on 31 January 2012.

Garys actual and deemed residence is

Garys chargeable gainis: £ [12000 il

months.





Task 2.9
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Section 2 - Tasks and Questions.

Complete the following sentences.

Candidate No: 1234656

© Ques

You are required to answer in whole pounds only. If your answer is zero, you must input 0.

Ataxpayer made capial gains, net of the annual exemption, of £14,000 during 2011112. His other income, net

of personal allowances, totaled £33,000. His capital gains tax iabilly would be £ [3720

Ifthe same taxpayer has capital losses of £12,000 incurred in 2011112, his capital gains tax iabiliy

would be £[350

Ifthe same taxpayer also had capital losses of £5,000 broughtforward from 2010/11 his capital gains tax

tiability would be £ [0

ab
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